5000

5.83

0./5

3.00

] N e e 10 L
i 1 e .
oF E [ ) [ ]
E ] [ ] 3 J
~ S 7] [ ] l 6 3
= ] i 1 ﬁ ﬁ
0r N [ ] L ]
1 3 1 e .
1 [ ]
o) E N N B S B R B ] 2 S P B
00 02 04 06 08 10 0.5 1.0 15 2.0 25 3.0 5 10 15 20 25
phase ¢y H-K V—K
15.0C ‘ ‘ ‘ ‘ ‘ -
145/ =
O 140 T T TS S oSS oSS ooooooossssses —]
o — |
9135; ,,,,,,,, ARANANA YT Y ANAARAANA R AANAARAAND VY ANARAAAAAARD Y AAANARARAAA ALY EA.... ,fw\mﬁg
130 ‘ ‘ ‘ ‘ ‘ =
40 ‘ ‘ ‘ ‘ ‘ -
] = . ]
N AT HIEIEERAAARN I AN LA 1 AR
B ~ TTRE TN ALEERRRNLRRN (T UIDRRRAARR AR
0] — 4 L
o —20— —
N = -
—40C ‘ ‘ ‘ ‘ ‘ J
1.0C ‘ ‘ ‘ ‘ ‘ -
8 os— —]
S - =
T os— —
- 3
8 04— —
] C 3
§ 02— —
00 . . ‘ ‘ - . =
o 100 200 300 400 500
time [yr]
Y —_— 3 6x10°F
b B2 foao 3 3
wor P e Tei 3000 K
RV L g L 3.85 Lg
— 7E o B El E 3
< o g0 E el 3 Mass 0.75 Mg
-78F o0 e 3 2x10"7E 3
E - E E E —
N [ I 3 19(c-0) 8.50
g i C/0 1.69
—78E_ e E o] S ‘ ‘ ‘ ‘ =
-6.8[ " T T T T T T T T ] ZO; T T T T T E AUP 2 km/S
[ ¢ foe2 ] E 1 f 20
-6 S 1 %o 1 . ‘
— I e " | £ i class pm2
g [ R ] >
E, —6.4 g 98 — 3 0
- [ B o 1 3
ool ° ! e 38 -of 1 No wind
RN |
-6.0 . . . . . . . . . -20 & . . . . . = Period 390. d = 1.068 yr
s o 1 0.006 : : : : T Rodivs 318 Ry
r ® & 1 E 3 _
[ o .39 ] E = logg 0.69
[ ‘o ‘ ] 0.005 F E
sl “ ge 2113 13 -} AT 0.492
- r EDDD o 1 %”o.oo:&gg g e ) ) )
] L CLE 1 s E & Colour mean min / max / range
£ -20F ® ‘ 1% 040035 & B-V) 2.14 2.07 2.26 0.19
> i o 1 ¢ E & V—I)' 255 2.37 2.82 0.45
[ ] g 000zZE V—K 566 530 6.37 1.07
-151 5 1 8 J-H) 090 085 101 015
[ ] 0.001 J—K 1.49 1.39 1.68 0.28
r 1 E H-K) 0.59 0.52 0.68 0.16
-10L . . . ] 0.000 E
465 467 511 516 470 480 490 500 510
time [yr] time [yr]



gas velocity [km/s]

log density [g/cm?]

]

=

Toos

condensation degree
»

60

S
[}

N
o

-20

|
o

3.0

2.5

N
o

o

0.5

0.0

5000

4000

3000

2000

1000

Note: Time increases downwards.

T

§\

|
bl

A
g

T S S T S S S S S TS ST T S S ST T T P S S B M SR
13.3 13.4 13.5 13.6 13.7
log r [em]
P S S S S S S S S S S S S T S S S S S S S MU SIY
13.3 13.4 13.5 13.6 13.7
log r [em]
L I TTTTTTTTTTTTITTTTTITTTTTTT L v ]
13.3 13.4 13.5 13.6 13.7
log r [em]

Cov v v v v b v e v b e e e b e e e e b e e b

13.3

13.4 13.5

log r [em]

13.6

13.7

Scales OK for last curve (bottom black)

120

100

80

60

40

gas velocity [km/s]

20

-20

T S S S TS S T S A A R

13.3 13.4 13.5

log r [em]

13.6

13.7

10—

o
L

log density [g/cm?]
|
w
T ‘ T

|
o
T T

|
o
T T

|

13.3 13.4 13.5

log r [em]

13.6

13.7

condensation degree

[N}
T TTTTT

13.4 13.5

log r [em]

13.6

13.7

8000 —

6000 —

os (K]

& 4000 —

2000 —

Ol v v v v v v b e v v e b b

13.3 13.4 13.5

log r [em]

13.6

13.7



